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That he trimmed them, for instance — P 1A

OVERVIEW

701 27 explained that the Xn>72 of MM (which seems to indicate that °1p W) is
discussing a case where he trimmed the hides, therefore there is a qwyn "11°w and
that is the reason the 21 acquires it and can designate it for a 75 through fawnn.
The question arises if there is 7wyn "W there is no need for wx>.' Our MdOIN
addresses this issue.
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And the trimming together with the wR> help to consider it a sufficient 11w that
the 1713 is 71p. However the w3 alone will not enable the 1713 to acquire it, for

w3°p is not considered a sufficient® ‘physical change’ to be 77 on its own without
YR,

SUMMARY

A T awyn MW is AP (even) without YR, however a minimal Awy»n MW (such
as W¥°p) can be 7117 only in conjunction with ¥R ([even] if we maintain that X
1P XY).

THINKING IT OVER

How are we to understand that even though wIX> alone °1p X% and the 7wyn "W of
WYp by itself is also °1p &7, but when they are combined, that there was jv¥°p and
W, it is 7P (seemingly they are two separate modes of acquisition for the 1713,
and not necessarily interrelated)?

! Either a 233 or a 1212 should be able to designate it for a *23 according to both the 1321 and ", since there was 1w
Twyn. It seems that ¥IX° is superfluous.
* See 5" Moo
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